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REGULAR EXPRESSION
Exercises

ITSE321, Dr. Rudwan Husain, University of Tripoli 139



import import 83_dall Jo G ol .

keyword1l—>import
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D10~ [1-9][0-9]

D0->[0-9]
D1->[1-9]

Numberl0—->D1DO0
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D0—>[0-9] $ 76,549,310
D1->[1-9] 41,000,009

AR
10M->D1D0,D3,D3
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Cr—=> (LD|S|Fr|Y]| £] €)
D—>[0-9]

Money—>CrD*.D3
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LD1000.000

$25000.430
£990.000
€760087.328

Fr987100.009

RV
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LD1,000.000
$25,000,430.321
Cr—> (LD|S|Fr|Y]| £] €)
£990.000
D—>[0-9]
€760,087.328
N->D3
Fr987,100.009
Money—>Cr(D| €)(D]| €)D(,N)*.N
Fr987,100,987.009
Money->Cr(D{1,3})(,N)*.N r
.18 g

S 3o JBY) e G,
SV el e &30

ITSE321, Dr. Rudwan Husain, University of Tripoli 144



(AR et S|
:Jia fon digall o (o sind il & sulad¥) cilald o G,
information
_ . transition
E1-> [a-z]"ion[a-z]
fashion
L—>[a-Z]

E2->(L*)ion(L")

communications
compassion
mission

lioness

lll‘&ss Iion
ITSE321, Dr. Rudwan Husain, University of Tripoli

145



(AUAT et LIS
djﬂgg@ﬁj ingd\gﬁg‘;@ﬁgﬂ\;\gmmﬂwﬁ\&dﬂ .
Jo¥) Al (eSO ram (819 B iua g al) (985 o)) b s ings

SL->[a-Z] e s U
CL~>[A-Z] Writing $ writing
E3—>(SL| CL)SL"ing(s| £) Driving ) driving
E4—>(SL|CL)SL*ings’ King s king
53a) g5 pa ol 0 Chday ? Kings s kings sl

Wings 3! Wing s wing s wings
R Y
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private static int state = 0, charPtr = 0;
public static String checkText(String text){

while(true){
switch(state){
case O:
switch(text.charAt(charPtr)){
case 'c':
case 'r':
case 'f":
case 'm":
state = 1; charPtr++;
break;
default :
return " NOT ACCEPTED",;
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case 1:
if(text.charAt(charPtr)=='a')
state = 2; charPtr++;
break;
case 2:
if(text.charAt(charPtr)=="t"){
charPtr++;
if(charPtr == text.length()-1)
return "NOT ACCEPTED";
else
return "ACCEPTED";
}
default :
return " NOT ACCEPTED";
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FINITE AUTOMATA
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